
A A

7.8

CONT. 3/8" x 1'-8" PL.

TOS EL.
SEE PLAN

T.O. WALL EL.
SEE ARCH.

(1) HSS3 x 3 x 3/16 POST UNDER 
VENEER. CENTER ON BEAM.
(THIS POST ONLY)

~

VENEER- SEE ARCH

SEE DTL. 1/S5.2 FOR 
MORE INFORMATION

COLUMN (BEYOND)-
SEE PLAN

BEAM- SEE PLAN

3/8" GUSSET PL. 
(THIS POST ONLY)

6 1/2" 1'-1 1/2"

5"

3/16"

3/16"

7.8

CLPOST
4"

1 1/2"
9 1/2"

HSS3 x 3 x 3/16 
@ 6' O.C.

CONT. 3/8" x 1'-3" PL.

3/16

3/16" 3" @ 18"

ANGLE TO
BEAM

CONT. L4 x 4 x 1/4 
(COPE AS REQ'D. 
AROUND POST)

3/16

POST TO
BEAM

ROOF DECK-
SEE PLAN

BEAM-
SEE PLAN

GIRT- SEE 
PLAN

TOS EL.
SEE PLAN

T.O. GIRT EL.
SEE PLAN

CONT. 3/8" x 6" x 10" (LLV) 
BENT PL. STOP 1/2" CLR. 
OF MASONRY VENEER 
JAMB

T.O. WALL EL.
SEE ARCH.

400S162-43 METAL STUDS 
@ 16" O.C. W/ RUNNER 
TRACK TOP & BOTT.

3/16" 3" @ 18"
CL GIRT

2
"

CONT. 3/8" x 5 5/8" PL. 
STOP 1/2" CLR. OF 
MASONRY VENEER JAMB

1/2"

T.O. WINDOW EL.
SEE ARCH.

1/2"

1"

EE.9

CONT. 3/8" x 1'-1 1/2" PL

HSS3 x 3 x 3/16 POST @ 6'-0" O.C.

CONT. L4 x 4 x 1/4. 
(COPE AS REQ'D. 
AROUND POST)

TOS EL.
SEE PLAN

GIRT- SEE PLAN

T.O. GIRT EL.
SEE PLAN

3/16" 3" @ 18"

3/16"

POST
TO BEAM

BEAM- SEE PLAN

1/2"

CLGIRT

400S162-43 METAL STUDS 
@ 16" O.C. W/ RUNNER 
TRACK TOP & BOTT.

ATTACH TRACK TO PL W/ (2) 
#10 TEK SCREWS @ EA. STUD

ROOF DECK- SEE PLAN

CONT. 3/8" x 6" x 10" 
BENT PL. STOP 1/2" 
CLR. OF MASONRY 
VENEER JAMB

CONT. 3/8" x 5 5/8" PL. 
STOP 1/2" CLR. OF 
MASONRY VENEER JAMB

2
"

9 1/2" 4"

T.O. WALL EL.
SEE ARCH.

CLPOST

2"

T.O. WINDOW EL.
SEE ARCH.

3/16" 3" @ 18"

ANGLE TO
BEAM

1"

3 1/2"

T.O. SLAB EL.
SEE PLAN

BEAM- SEE PLAN

C12 x 20.7

CONT. L5 x 5 x 5/16

3/16" 3" @ 18"

3/16" 3" @ 18"

3/16" 3" @ 18"

TOS EL.
SEE PLAN

ROOF DECK- SEE PLAN

1
/4

"
4

 3
/4

" 5
"

CONT. L5 x 5 x 5/16
3/16" 3" @ 18"

3/16" 3" @ 18"

5
"

T.O. SLAB EL.
SEE PLAN

BEAM- SEE PLAN

TOS EL.
SEE PLAN

CONT. L4 x 4 x 1/4

ROOF DECK-
SEE PLAN

3/16" 3" @ 18"

3/16" 3" @ 18"

2 1/4"

CL BEAM

10.1

BEAM- SEE PLAN, TYP.

TOS EL.
SEE PLAN

BEAM- SEE PLAN

CONT. L4 x 4 x 1/4 (COPE 
AS REQ'D. AROUND POST)

3/16
POST TO BEAM

CONT. 3/8" x 1'-2 1/2" PL

3/16

3/16" 2" @ 18"

3/16" 2" @ 18"

CONT. 3/8" x 10" PL

TOS EL.
VARIES

600S162-43 METAL STUDS @ 16" 
O.C. W/ RUNNER TRACK TOP 

RCKW3 KNEEWALL CONNECTOR FROM 
SIMPSON STRONG-TIE @ EA. STUD. ATTACH 
TO PLATE W/ (2) #12 TEK SCREWS. ATTACH 
TO STUD W/ (4) #12 TEK SCREWS

(2) #10 TEK SCREWS @ 16" O.C.

10"

HSS2 x 2 x 3/16 BRACE- SEE PLAN

T.O. WALL EL.
SEE ARCH.

3/4"

CLPOST

5 1/2"

HSS2 x 2 x 3/16 BRACE- SEE PLAN

ROOF DECK- SEE PLAN

3/16"

EA.
END

HSS3 x 3 x 3/16 POST @  6'-0" O.C.

3/16" 3" @ 18"

ANGLE TO
BEAM

400S162-43 METAL STUDS @ 16" 
O.C. W/ RUNNER TRACK & BOTT.

3/16"

EA.
END

CONT. L4 x 4 x 1/4 

3/16" 3" @ 18"

ROOF DECK- SEE PLAN

1 1/2"

1"
CL BEAM

CONT. 3/8" x 8" PL.

9"

9 1/2"

CONT. L5 x 5 x 5/16

3/16" 3" @ 18"

3/16" 3" @ 18"

2"

T.O. SLAB EL.
SEE PLAN

SLAB- SEE PLAN

CHANNEL- SEE PLAN

13.9

GIRT- SEE PLAN

T.O. GIRT EL.
SEE PLAN

3/16" 3" @ 18"

CLGIRT

5"

CONT. 3/8" x 1'-0 1/2" PL
HSS3 x 3 x 3/16 POST 
@ 6'-0" O.C.

CONT. 3/8" x 4" x 8" 
BENT PL

CLPOST

TOS EL.
SEE PLAN

3/16

POST TO
PL.

BEAM- SEE PLAN

400S162-43 METAL STUDS 
@ 16" O.C. W/ RUNNER 
TRACK TOP & BOTT.

ROOF DECK- SEE PLAN

3/16" 3" @ 18"

PL. TO
BEAM

CONT. 3/8" x 6" x 10" (LLV) 
BENT PL. STOP 1/2" CLR. OF 
MASONRY VENEER JAMB

CONT. 3/8" x 5 5/8" PL. STOP 
1/2" CLR. OF MASONRY 
VENEER JAMB

3/16" 3" @ 18"

2
"

T.O. WALL EL.
SEE ARCH.

8"

HSS2 x 2 x 3/16 BRACE- SEE PLAN

3/16
EA. END

BEAM-
SEE PLAN

T.O. WINDOW EL.
SEE ARCH.

8 1/2"
4"
1 1/2"

6 1/2" 1'-1 1/2"

3
 5

/8
"

4"

1"

7.8

SECTION A-A

EE

43 MIL. DEFLECTION TRACK

GIRT- SEE PLAN

CONT. 3/8" x 8 1/2" x 9" (LLV)
BENT PL. STOP 1/2" CLR. OF 
MASONRY VENEER JAMB

3/16" 3" @ 18"

3/16" 3" @ 18"

T.O. WINDOW EL.
SEE ARCH.

T.O. GIRT EL.
SEE PLAN

T.O. WALL EL.
SEE ARCH.

BEAM- SEE PLAN

800S162-43 METAL STUDS @ 16" O.C. 
W/ RUNNER TRACK TOP & BOTT.

ARCH.

SEE

G
A

P
1

"

800S162-43 METAL STUDS @ 16" O.C. W/ 
RUNNER TRACK TOP & BOTT. (BEYOND)

ATTACH TRACK TO CAP PL 
W/ (4) #12 "TEK" SCREWS

HSS3 x 3 x 3/16 POST W/ 
1/4" x 4" x 6" CAP PL @ 6'-0" O.C.

CONT. L4 x 4 x 1/4- COPE 
AS REQ'D AROUND POST

VENEER- SEE ARCH

ROOF DECK- SEE PLAN

3/16 3" @ 18"

ANGLE TO
BEAM

TOS EL.
SEE PLAN

3/16

POST
TO BEAM

POWDER ACTUATED 
FASTENER @ 16" O.C.

3 5/8"

7.7

CL BEAM

 7"

2
"

TOS EL.
SEE PLAN

BEAM - SEE PLAN

L3 x 3 x 1/4 @ 
6'-0" O.C. MAX.

THREADED ROD 
BY MRF., TYP.

PLATE BY MFR. 

CONT. P1000 UNISTRUT, TYP.

1/4" x 8" x 1'-0" PL

HSS2 x 2 x 1/8 @ 6'-0" O.C. MAX.

BEAM - SEE PLAN

1/8
EA. END

3"

3"
TYP.

1/8
EA. END

A

FI
TRE C

No. 218

NESAS
NA

KR

G

REENI

Engineers, Inc.

I

ETAC

AFO

I Z
NO

I
TA

RO
HTU

Welcher

Tatum Smith

D
ra

w
in

g
 2

0
2
1

 C
o

p
y
ri

g
h

t 
 M

e
y
e
r,

 S
c
h

e
re

r 
&

 R
o

c
k
c
a
s
tl
e

, 
L
td

. 

Drawing 2021 Copyright Meyer, Scherer & Rockcastle, Ltd.

ISSUE / REVISION

DateMark Description

510 Marquette Avenue South, Suite 200
Minneapolis, MN 55402  |  612.375.0336

0
5

/3
0

/2
3

 1
1
:1

6
:2

4
 A

M
A

u
to

d
e

s
k
 D

o
c
s
: /

/2
0

2
1

0
2

7
 B

e
n

to
n

v
ill

e
 P

u
b

lic
 L

ib
r a

ry
/2

1
0

8
3

 -
 B

e
n

to
n
v
ill

e
 P

u
b
lic

 L
ib

ra
ry

 E
x
p
a

n
s
io

n
 -

 B
e
n

to
n

v
ill

e
, 

A
R

 -
 R

2
2

.r
v
t

S5.2

FRAMING DETAILS

BID SET

P
ro

je
c
t 

N
o
: 

2
0

2
1

0
2

7

B
e
n

to
n

v
il

le
 P

u
b

li
c

 L
ib

ra
ry

E
x
p

a
n

s
io

n
4

0
5

 S
 M

a
in

 S
tr

e
e

t
B

e
n

to
n

v
ill

e
, 

A
R

 7
2

7
1

2

Architecture and Interiors

Associate Architect

Hight Jackson Associates PA

E | D | G

216 West Birch Street
Rogers, AR 72756   |  501.378.0200

5201 W Village Pkwy #300
Rogers, AR 72758   |  479.464.4965

Civil Engineer

Structural Engineer

Tatum-Smith-Welcher
Structural Engineers

3100 S Market St #202
Rogers, AR 72758   |  479.621.6128

MEP Engineer

HP Engineering, Inc.

5504 W. Pinnacle Point Dr. Suite 200
Rogers, AR 72758   |  479.899.6370

Landscape Architect

TEN x TEN

575 SE 9th St #210
Minneapolis, MN 55414   |  612.440.8369

SECTION
3/4" = 1'-0"2

SECTION
3/4" = 1'-0"1

SECTION
3/4" = 1'-0"3

SECTION
3/4" = 1'-0"4

SECTION
3/4" = 1'-0"5

SECTION
3/4" = 1'-0"6

SECTION
3/4" = 1'-0"7

SECTION
3/4" = 1'-0"8

SECTION
3/4" = 1'-0"9

SECTION
3/4" = 1'-0"10

NOTE: 
COORDINATE ELEVATION OF PLATES W/ COIL DOOR MFR. 
UNISTRUT TO SPAN BETWEEN HSS POSTS UNDER DUCTS.

12/10/2021 SCHEMATIC DESIGN PRICING

06/22/2022 DESIGN DEVELOPMENT PRICING

10/24/2022 60% CD PRICING

12/21/2022 PERMIT SET

01/06/2023 BID SET

3 05/30/2023 ASI-03

3


